A & 0l & A

2014HE = 1 8 JIEISEE N HA CER-ED
20b- B2 - ALY - AL (31H) o & o ol F o HDE2

zus
= b 83,055,628 64,905,892 18,149,736 |  27.96%
=RIPNES 68,522,239 52,085,032 16,437,207 | 31.56%
WS 14,443,530 12,733,341 1,710, 189 13.43%
#E2 Ayl 89,859 87,519 2,340 2.67%
2HEs 19,045, 162 17,111,498 1,933,664 11.30%
MBtAE - 4H 12,274,962 10,341,298 1,933,664 18.70%
SEWHSEIN 2 58,000 28,000 30,000  107.14%

=HNLSESH 2S(=RNLSEAH) 58,000 28,000 30,000 107.14%
Not=SE3 A2 1,655,251 1,300, 157 355,094 27.31%
Not=S3 2L (Xot=SL3) 1,655,251 1,300, 157 355,094 27.31%
Hess(Eazgdy) 10,350,418 8,801,848 1,548,570 17.59%
UWERHHXES(=EHESE3A) 10,350,418 8,801,848 1,548,570 17.59%
Heas(6h+=m) 211,293 211,293 0 0.00%
HEAHHX & (XSS 3 H) 211,293 211,293 0 0.00%
HOI2 6,770,200 6,770,200 0 0.00%
HIOISHM2AANEMNSSEIIAH 2 5,147,000 5,147,000 0 0.00%
HIOISEM2AEMLESSH 22 (HIISHM 5,147,000 5,147,000 0 0.00%
ANEASES3)
Heass(E3amn) 1,623,200 1,623,200 0 0.00%
HWEHH XIS (HIIS M AISALSES ) 1,623,200 1,623,200 0 0.00%
At = Xl 4,407,750 4,361,131 46,619 1.07%
=dged 103,619 57,000 46,619 81.79%
HRES (At =X 103,619 57,000 46,619 81.79%
BHEXNE(YES0HISETLESESA) 103,619 57,000 46,619 81.79%
FAHSXE 4,304,131 4,304,131 0 0.00%
2slIsxdSEsH &9 4,304,131 4,304,131 0 0.00%
AEZNHIISELEELINH 2L (Y=220I12 4,304,131 4,304,131 0 0.00%
THEE3A)
=EXNS 51,487,953 35,776,608 15,711,345 43.92%
SANEE 51,487,953 35,776,608 15,711,345 43.92%
SANEEAMY SE3H 2 51,487,953 35,776,608 15,711,345 43.92%
EAI?EM% S 2L (SAEBZAESEE 51,487,953 35,776,608 15,711,345 43.92%
3 Al

=EYXANLY 8,024,904 7,569,136 455,768 6.02%
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